
Page 1 of 20 MK15-0486_V1.0     03-10-2024COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Menu board mount, multiple screens up to 43"
WT22xxxxLL

Installation Guide



This product must be installed by a professional installer.  •
This product is designed to be wall mounted. Before installing, •
please verify that the wall can bear the combined weight of the 
solution and hardware. Standard fixings for wooden material and 
fixings for concrete material are supplied as part of the product, 
but they will not be suitable for all types of walls. It is the 
responsibility of the installer to use the appropriate fixings for the 
specific installation location. 
The maximum weight limit for this product is 150 kg per wall •
bracket. Do not exceed the stated weight limit.
This product is intended for indoor use only.•
Please don’t power the hardware, until the entire solution is fully •
assembled.
If these installation instructions are not followed precisely, it could •
lead to product failure and potential personal injury.
Ergonomic Solutions / SpacePole inc. cannot be held responsible •
for any product failure or personal injury, if the installation 
instructions are not followed correctly.
Ergonomic Solutions / SpacePole inc. cannot be held responsible •
for any product failure or personal injury, if any modifications have 
been made to the product by the customer.

 

MAINTENANCE
It is the responsibility of the customer to periodically check the •
installation and ensure it is clean, all air ventilation holes are free 
and all fixings are tightened correctly.

Page 2 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

CAUTION



2x (A)

1x (D)
Length = 1100mm

1x (B)
set of 4

3x (C)

1x (E)
1x (F)
1x (G)1x (H)

1x (I)
1x (J)

1x (K)
1x (L)
1x (M)
1x (N)
1x (O)
1x (P)
1x (Q)
1x (R)
1x (S)
1x (T)

WT223110LL

12x Spacer Ø8.4/Ø15.5x5

16x Ø8/Ø16 washer

4x Ø10x50 wall plug

4x M6 T-nut

4x M6x10 (for T-nut)

4x wood screw 8x60

12x M8x35

12x M8x25

12x M8x16

12x M6x12

12x M4x8 (Philips)

12x M4x6 (Philips)

Optional

Page 3 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Tool list

Box content



2x (A)

1x (D)
Length = 1100mm

1x (B)
set of 4

3x (C)
1x (F)
1x (G)
1x (H)
1x (I)
1x (J)

1x (K)
1x (L)
1x (M)
1x (N)
1x (O)
1x (P)
1x (Q)
1x (R)
1x (S)
1x (T)

WT223158LL

12x Spacer Ø8.4/Ø15.5x5

16x Ø8/Ø16 washer

4x Ø10x50 wall plug

4x M6 T-nut

4x M6x10 (for T-nut)

4x wood screw 8x60

12x M8x35

12x M8x25

12x M8x16

12x M6x12

12x M4x8 (Philips)

12x M4x6 (Philips)

1x (E)
Length = 480mm

Optional

Page 4 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Tool list

Box content



2x (A)

1x (D)
Length = 1100mm

1x (B)
set of 4

4x (C)
1x (F)
1x (G)
1x (H)
1x (I)
1x (J)

1x (K)
1x (L)
1x (M)
1x (N)
1x (O)
1x (P)
1x (Q)
1x (R)
1x (S)
1x (T)

WT224190LL

16x Spacer Ø8.4/Ø15.5x5

20x Ø8/Ø16 washer

4x Ø10x50 wall plug

4x M6 T-nut

4x M6x10 (for T-nut)

4x wood screw 8x60

16x M8x35

16x M8x25

16x M8x16

16x M6x12

16x M4x8 (Philips)

16x M4x6 (Philips)

1x (F)
Length = 800mm

Optional

Page 5 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Tool list

Box content



2x (A)

2x (D)
Length = 1100mm

1x (B)
set of 4

3x (C)
1x (F)
1x (G)
1x (H)
1x (I)
1x (J)

1x (K)
1x (L)
1x (M)
1x (N)
1x (O)
1x (P)
1x (Q)
1x (R)
1x (S)
1x (T)

WT223220LL

12x Spacer Ø8.4/Ø15.5x5

16x Ø8/Ø16 washer

4x Ø10x50 wall plug

4x M6 T-nut

4x M6x10 (for T-nut)

4x wood screw 8x60

12x M8x35

12x M8x25

12x M8x16

12x M6x12

12x M4x8 (Philips)

12x M4x6 (Philips)

Optional

Page 6 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Tool list

Box content



3x (A)

3x (D)
Length = 1100mm

2x (B)
set of 4

4x (C)
1x (F)
1x (G)
1x (H)
1x (I)
1x (J)

1x (K)
1x (L)
1x (M)
1x (N)
1x (O)
1x (P)
1x (Q)
1x (R)
1x (S)
1x (T)

WT224330LL

16x Spacer Ø8.4/Ø15.5x5

24x Ø8/Ø16 washer

6x Ø10x50 wall plug

6x M6 T-nut

6x M6x10 (for T-nut)

6x wood screw 8x60

16x M8x35

16x M8x25

16x M8x16

16x M6x12

16x M4x8 (Philips)

16x M4x6 (Philips)

Optional

Page 7 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Tool list

Tool list

Box content



 1100 

 600 
wall brackets (A)

 250  250 

 81 

 1
90

 
w

al
l b

ra
ck

et
s

(A
)

 480  1100 

 1000 
wall brackets (A)

 290  290 

 800  1100 

 1100 
wall brackets (A)

 400  400 

WT223158LL

WT224190LL

WT223110LL

WT22xxxxLL

Recommended position for wall brackets

Page 8 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Dimensions [mm]



 1100  1100 

 1100 
wall brackets (A)

 550  550 

WT223220LL

 1100  1100  1100 

 1000 
wall brackets (A)

 1000 
wall brackets (A)

 650  650 

WT224330LL

 1
00

 
 2

00
 

 2
30

 

 100 
 200 
 230 

VESA tilt bracket (C)  46,3 

WT22xxxxLL

Recommended position for wall brackets

Page 9 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Dimensions [mm]



Do not cut on assembled ends

Shorten rails to fit smaller screens.
The rails can be shortened if:

The screens are smaller than the maximum specified screen size.•
Fewer screens than the maximum specified number of screens •
are used.
The orientation of the screens are different from the specified •
orientation.

It is the responsibility of the installer to measure the exact 
dimensions of the screens, before cutting the rails.

Cutting guidelines:

Page 10 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Optional: Shorten rails



A

B

1

2
3

D, E, F

D, E, F

Step 1: Rail assembly

Step 2: 

Step 3: 

Step 4: 

Step 5: 

Step 6: 

Step 7: 

Step 8: 

Step 9: 

Step 10: 

1

2

3

4

5

6

7

8

9

10J

I

H

G

F

E

D

C

A

Slide in connector bars in one rail.1.
Assemble with second rail.2.
Tighten screws.3.

Page 11 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Steps



B

See dimension guide for position of wall brackets (A)

12

2

Step 2: Mount wall brackets (A) on rails (D, E, F)

Step 2: 

Step 3: 

Step 4: 

Step 5: 

Step 6: 

Step 7: 

Step 8: 

Step 9: 

Step 10: 

1

2

3

4

5

6

7

8

9

10J

I

H

G

F

E

D

C

B

A

Flip in two T-Bar nuts.1.
Attach wall bracket (A) with M6x10 screws2.
Repeat with all wall brackets (A)•

Page 12 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Steps



C
 7 

 1
20

 *
 

1

2

3

 4
29

,3
 

 1366,2 

D

4 5

5 5

Step 3: Mount rail with wall brackets on wall

Step 2: 

Step 3: 

Step 4: 

Step 5: 

Step 6: 

Step 7: 

Step 8: 

Step 9: 

Step 10: 

1

2

3

4

5

6

7

8

9

10J

I

H

G

F

E

D

C

B

A

Mark position for first screw in wall bracket (A).1.
Drill hole/insert wall plug.2.
Mount a screw approx. 7mm from the wall.3.
Hang the assembled rail on the screw, use the keyhole.4.
Mark for the rest of the wall plug.5.
Drill holes/insert wall plugs.•
Mount the rail and tighten all wall screws.•

Make sure to align rail horizontally when marking

WARNING: It is the responsibility of 
the installer to use the correct 
fixings for the specific installation 
site.

* The distance from upper wall screw to 
center of VESA/mounting pattern at the 
screen.

Page 13 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Steps



Step 4: Mount VESA bracket (A) on screen

Step 2: 

Step 3: 

Step 4: 

Step 5: 

Step 6: 

Step 7: 

Step 8: 

Step 9: 

Step 10: 

1

2

3

4

5

6

7

8

9

10J

I

H

G

F

E

D

C

B

A

Parts supplied (per screen)
1x (B)
4x M4x6 Philips screws
4x M4x8 Philips screws
4x M6x12 screws
4x M8x16 screws
4x M8x25 screws
4x M8x35 screws
4x Ø8/Ø16 washer
4x Ø8.4/Ø15 black spacer

WARNING: Select appropriate screw 
length/size, combine with 
washer/spacer if needed.

Page 14 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Steps



Remove 2 x thumb screws and tilt 
to required angle, insert and 
tighten the thumb screws again

Step 5: Tilt the screen

Step 2: 

Step 3: 

Step 4: 

Step 5: 

Step 6: 

Step 7: 

Step 8: 

Step 9: 

Step 10: 

1

2

3

4

5

6

7

8

9

10J

I

H

G

F

E

D

C

B

A

Tilt options:
0 degrees
5 degrees 
10 degrees
15 degrees

Page 15 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Steps



1

2

3

 91,1 

 187,7 G

4

H

5

Step 6: Hook all screens on to rail and level 

Step 2: 

Step 3: 

Step 4: 

Step 5: 

Step 6: 

Step 7: 

Step 8: 

Step 9: 

Step 10: 

1

2

3

4

5

6

7

8

9

10J

I

H

G

F

E

D

C

B

A

Secure VESA bracket (B) with screw underneath.

Level the screen with levelling screws.

Swing in the bottom of the screen.

Lower the screen.

Attach to the top of the wall mount.

Bottom view

Page 16 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

Steps



Page 17 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

This page intentionally left blank



Page 18 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

This page intentionally left blank



Page 19 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024

This page intentionally left blank



Page 20 of 20COPYRIGHT © ERGONOMIC SOLUTIONS 2024


	Guide FRONT
	Drawing View1

	Guide CAUTION
	Guide TOOLS and BOX
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View23
	Drawing View24

	Guide TOOLS and BOX(2)
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View58
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66

	Guide TOOLS and BOX(3)
	Drawing View67
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View71
	Drawing View72
	Drawing View73
	Drawing View74
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View84
	Drawing View85
	Drawing View86
	Drawing View87

	Guide TOOLS and BOX(4)
	Drawing View109
	Drawing View110
	Drawing View111
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View116
	Drawing View117
	Drawing View118
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View126
	Drawing View127
	Drawing View128

	Guide TOOLS and BOX(5)
	Drawing View130
	Drawing View131
	Drawing View132
	Drawing View133
	Drawing View134
	Drawing View135
	Drawing View136
	Drawing View137
	Drawing View138
	Drawing View139
	Drawing View140
	Drawing View141
	Drawing View142
	Drawing View143
	Drawing View144
	Drawing View145
	Drawing View146
	Drawing View147
	Drawing View148
	Drawing View149

	Guide DIM
	Drawing View150
	Drawing View151
	Drawing View152
	Drawing View153

	Guide DIM(2)
	Drawing View156
	Drawing View158
	Drawing View171
	Drawing View172

	Guide CAUTION(2)
	Drawing View173
	Drawing View174

	Guide STEPS
	Drawing View159
	Detail View A (3 : 10)

	Guide STEPS(2)
	Drawing View161
	Detail View B (1 : 3)

	Guide STEPS(3)
	Drawing View163
	Detail View C (1 : 2)
	Drawing View168
	Detail View D (1 : 20)

	Guide STEPS(4)
	Drawing View170

	Guide STEPS(5)
	Drawing View175
	Detail View E (1 : 2)

	Guide STEPS(6)
	Drawing View177
	Drawing View178
	Detail View G (1 : 5)
	Drawing View184
	Detail View H (1 : 5)

	Guide EMPTY
	Guide EMPTY(2)
	Guide EMPTY(3)
	Guide CONTACT

